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ALS S X 5,507,781 5,553,477 N 45,696
= 736,358
= 117,606
Al 4,653,817
HNASE A2 3H(AMIAEXN /I ZMHEEH) 5,304,777 5,362,454 NBT,677
=2 626,485
o= 101,125
Al 4. 577,167
HNASE =220 N (ASSHII2ELSH) 5,304,777 5,362,454 ANB7,677
= 626,485
o 101,125
Al 4 577,167
o230 HI2 AZEeEYZ2 JE 4,421,671 4 565,644 A 143,973
308 MXISHMSOIA 4,421,671 4 565,644 A 143,973
07 AIXISHHZ2EES 2 4 421,671 4 565,644 AN 143,973
O 2230 Y AlYl 23
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= 22,404
== 5,601
01 2L HI 28,005 22,725 5,280
O 22301 YLEZF oYl BHHA
28,005,000 * 14! 28,005
= 22,404
& 5,601
301 et A= 10,000 10,000 0
= 8,000
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A AMIEX
M HM2HAH|(ALSI =2 X D) (IIEH/DIE)
G olEAY| (2 SHII=SELSAH) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
olg20 Al XIS Q| 160,861 148,880 11,981
= 109,873
& 16,481
Al 34,507
101 Q121 H| 160,861 148,880 11,981
= 109,873
= 16,481
Al 34,507
03 RIHEZZXHE = 160,861 148,880 11,981
O 9230 22 SH(AMEE =, E23
=942 ILgh) 32,585,250 « 4H 130,341
= 104,273
& 15,641
Al 10,427
O @30 Atdl 22l Al DE = 5,400
o WEEXH| 80,000& » 3™ = 12& 2,880
o HHZ A 70,0008 * 3% x 12& 2,520
O &R 80,000& = 3™ « 128 2,880
O AAx=¢ 106,000& = 4% = 10 4,240
O Y& 5yl 1,375,0008 = 23| x 4™ 11,000
O 92 B2IAF ZA2 1,750,000 * 4% 7,000
= 5,600
& 840
Al 560
HEES (S SHIIZ2ELIAH)(MEAEX/HLHERH) 42,143 42,143 0
BEIE(A2S3HII=ELEEAH) 42,143 42,143 0
BHEINES(2ESII=EESAH) 42,143 42,143 0
802 BtEtZ2 DI Ef 42,143 42,143 0
03 JIEIEtEt 2 S 42,143 42,143 0
O 9220 BEE0ISZ2 U=
42 143,000 * 14! 42,143




